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Measuring instruments for mass anpd

’ weighi

What would you weigh with these scales? Are they analogue or digital scales?

a.

1. What would you weigh with the following measuring instruments?
Would you weigh it in kilograms or grams?

Type For measuring: Kilograms or
grams

Bathroom scale

Spring scale

© 9 2 8 4 8 G 7 8 © 10 99 912 18 14



We use scales fo measure mass and weight. Most people use both
words as if they are the same, though they are different. The mass
of an object is how much matter it contains. It does not change.
The weight of an object changes according to gravity. An objects
weighs six times more on earth than on the moon, and weighs
= - nothing in empty space, even though its mass remains the same
everywhere.
A balance scale measures mass. A spring scale measures weight.
On earth both types of scale give us the same approximate reading,
so for everyday practical activities we can also use spring scales
(such as bathroom and kitchen scales) to measure mass.

N J

2. How would you measure the mass of the following (with what instrument and in
grams or kilograms)?

a. A bunch of bananas: b. Sugar for a cake recipe:

c. A child visiting the clinic: d. A laptop computer:

3. Answer the following questions.

a. We make use of scales to weigh objects.
i. Is there only one type of scale?
ii. Name some of the types of scales we use and what we use them for.

b. Will a bag full of cotton waste have a larger mass than the same size bag half
filled with steel nailse

c. We use grams (g) and kilograms (kg) when measuring mass.
i. Which unit of measurement do you think we use to measure heavier
objects?
ii. Which unit of measurement do you think we use for lighter objectse

Measuring the ingredients

My mother baked a cake. What did she use to measure the ingredients?

3
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What is a scale? Circle all the measuring instruments used to weigh objects.
What would you weight with each of those measuring instruments?2

A ) e

-

Tl g

1. What do we weigh with measuring instruments?

Measuring instrument Give an example what you can weigh with it

Spring scale Meat

2. Answer the following:

a. How many grams are there in a kilogram?

b. How many grams are there in 2,4 kilograms?

c. How many grams are there in 100 kilograms?e

d. How many kilograms is 23 500 grams?¢

e. How many kilograms is 48 250 grams?

© 9 2 8 4 8 G 7 8 © 10 99 912 18 14



3. What do you see around you that weighs about 1 kilogram?
(You may not answer, “1 kilogram packet of sugar etc.”!).

4. Look at these things. Estimate how much each one weighs.

a. Tennis ball b. Medium sized dog

d. Sport shoes

continued @

5
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EWeighl continued

44

5. Complete the intervals for this spring balance and number them.

kg kg kg kg kg kg
0 0 GE- 0 0 0
) L -1 L L o J L
= —H — — — —=n-
=5 -1 -1 -1 H -1
ai il = e B m | m JNIE i i w1
|IJIEiIREIIREIINEIFRES
e o o T— }w o~ }4;
}‘“ }3 3 3 }3 3
g 3 3 3 3 3

6. What is the reading on each of these spring scales?

gk b.
C. d.
C i
i. Tkg= mm on the spring balance?

ii. Will this be the same for all spring balances?

© 49 2 8 4 8 B 7 8 © 10 99 12 18



00 N O th bW N— O

O O~ o0 B N—= O

oY O~ O U Bl N— O
e

You can make your own scales from household
objects.

You can make a spring scale using a spring
and paper clips.

You can make a balance scale as illustrated
here.
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1. Circle the most appropriate unit to measure each object.

© 9 2 8 4 85 G 7

8 9 10

Mass Capacity
Truck mg g kg |Glass of water ml litre
Book mg g kg |Waterin a basin y r‘ﬂ__"_ ml litre
X - il

Insect mg g kg |Water tank Q ml litre
Chicken mg g kg |Scientific chemicals l ml litre
2. The mass of 1 litre of water = 1 kg. Complete the following:

a. 2 litre of water = kg. b. 500 ml of water = kg.

c. 250 ml of water = kg. d. 125 ml of water = kg.

e. 50 ml of water = kg. f. 2 300 ml of water = kg.

g. 1,5 litre of water = kg. h. 4,55 litre of water = kg.

11 92 18




Weight
Kg g

Mercury Liquid (1 litre)

Water

Sea water

Milk

Paraffin

Peftrol

Cooking oil

Mercury

a. Which liquid is the lightest?

Mercury is so
heavy!ll

o

b. Which liquid is the heaviest?

c. Why do the mass of these liquids differe

Some thinking fun ...

—  With an unlimited supply of water and only
two unmarked containers with a capacity of
exactly 9 litres and 4 litres.

— How can you measure out exactly 6 litres of
water into one or both of these containers?

—  What will happen if the task spoke of ? kg, 4 kg
and 6 kg of water instead of lifrese Would your
answer be the same or differente Why?2

9
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10

Revise: go through this summary on solving a problem using the questions as a guide

Looelving problems with mass

i. Read and underline the
question.

What are you looking
for in this problem?2

ii. Write down the numbers
and hidden numbers.
Note that sometimes

the numbers are
written in words.

-
N

ii. Write down the key word/s.

What basic operation
(+, -, x or =) will you
use?

B

=

iv. Cross out the numbers you
don't need.
What information is

not needed in solving
this problem?

.

v. Solve by using pictures,
drawings or concrete

apparatus. Draw a picture to

help you to solve the
problem.

——

vi. Write a number sentence.

What numbers and
basic operation(s) will
you use?

TN

vii. Show all your work.

Why did you choose
this response?

TN

viii. Does your answer make sense? Try it out.

check to see if it is correct?

After getting an answer, how can | |

4

a. A 500 g bag of flour costs R3,50. How much will 1,5 kg coste

Possible solution:

1. Do the following problems in your writing books.

i. How much will 1,5 kg cost?
i. The key numbers are 500 g, R3,50 and 1,5 kg.

ii. Addition or multiplication and division

iv. You will need all the numbers in this word problem.

vi. R3,50 + R3,50 + R3,50

vii. R? +R1,50 =R10,50
viii. R10,50 + 3 =R3,50

© 9 2 3 4

& G ¥

OR 1500g+500g=3; 3xR3,50=

© 10 91 92 18



o.

Cc. My brother has a mass of 25 kg and my sister is double that. What is my sister’s
Masse

d. If one cake needs 275 g of self-raising flour, how much flour will | need to make
three cakes?

e. Ashop sells 40 kg of rice for R450. How much does 1 kg cost?

continued @
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ESolving problems with mass continued

g. When my mother buys washing powder she pays R45,65 for a 3 kg bag. How
much does she pay for 1 kg?

h. My father eats 125 g of chocolate a day. How many grams will he eat in two
weeks?

© 49 2 8 4 8 B 7 8 © 10 99 12 18



i. | was given a 4 kg bag of rice to take to my grandmother’s house. On
the way there the bag tore and a quarter of it spilled out. How many
kilograms of rice will my grandmother have to cook?@

J- A chocolate cake needs 445 g of flour. If my aunt wants to bake 20 cakes, how
much flour will she need?

k. A school book weighs 25 g and | have 12 books in a bag. How much do the
books weigh?
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i Number work up to 9-digits

People sometimes speak of a half a million. What does that mean?

My parents N (1 My dream Isn't that 1\ (‘When we visited Maropeng Cradle )
Eish... it must th of Humankind they fold us some of
bought a car cost e same
heuse et il be beautifull R500 000. as a half a the stone tools were made 500 000
a million!! million?2 years ago.
— — —

Yes, and the I
guide said that
is the same as

half a million =
A years ago. I
L %

a. The South African population grows by more than 500 000 in a year.

\’ AN

1. State whether the following is true or false:

b. There are 12 500 000 people living in Gauteng.

c. The South African government plans to upgrade 500 000 shacks by 2014.

d. In the first 10 days of the World Cup in 2010 some 500 000 tickets were sold.

e. In an average South African school we will find 500 children.

2. Complete the following:
a 500+ 40+ 300000+ 5000+ 90000+ 1 =

. 6+ 900+ 9000+ 70+ 10000 + 400 000 =

c. 80+ 6+ 500 + 6 000 + 400 000 + 20 000 =

d. 400 000 + 20 000 + 5000 + 8 =

e. 300 000 + 400 + 20 =

3. Change the digit 5 to zero in each number. Show the operation that will make it zero.
a. 478578 = |-

|

b. 353897 = | |
C. 294025 = | |
|

|

d. 500 000 = |
e. 893257 = |

14
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4. Your uncle won R12 million in the lotto. He went to purchase items at
different stores. Help him to fill in his cheques. Guess what he purchased with
these cheques.

Pay
the sum of

s b Brarch Sor Cose

"0002L3 v X0 L=020 302

Pay
the sum of

s b Brarch Sor Cose

"0002L3 v X0 L=020 302

Pay
the sum of

s b Brarch Sort Code AL S

"0002L3 v 20 L=02039 OL23LSE?

5. Write in expanded notation. Use the digits 1 to 9 to make five different 9-digit
numbers smaller than 500 000 000 but bigger than 200 000 000.

a.

b.

continued «
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ENumber work up to 9-digifs continued

6. What do ascending and descending order mean?

7. Write the following in ascending order.
Q.22 256 276,22 256 672, 22 256 267, 22 256 627

.73 782894, 73 782 498, 73 782 849, 73 782 489

C. 83 243 228, 83 242 283, 83 243 822, 83 243 282

d. 44 219 248, 44 219 284, 44 219 842, 44 219 824

e. 63318 278, 63318 827, 63 318 872, 63 318 287

f. 63 318 278, 63 318 827, 63 318 872, 63 318 287

8. Write the following in descending order.
a. 11271872, 11271278,11 172827, 11721 782

. 92287 198, 92782 891, 92278 189, 92 891 782

C.74 357 543,74 753 345,74 375 543, 74 357 534

d. 53 573798, 53 375 897, 53 537 798, 53 573 789

16
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e.32 122 678, 32221 876,32 122 687, 32 212 678

f. 91 847 324, 91 748 423, 91 874 324, 91 847 342

9. Compare the underlined digits, and explain the relationship that you see in your

owhn words.
a. 3563 and 1 635
b. 2002 and 2 002

c. 299 and 9 299

d. 1 and 1001

e. 4000 and 44

10. Look at the numbers board and answer the questions?

1 213141567 (8]°9 10
111213 141151617 (18] 19| 20
21122231 24|125|26(27(28]29]| 30
31132(33)|34|35|36(37(38]|39]| 40
41 | 42 | 43 | 44 | 45| 46| 47 | 48 | 49| 50
51 52(53]54|55(56[57]58(59(| 60
611626364 |65|66(67 (6869 70
7117273\ 7475|7677 78|79 80
81 (8283|184 (85|86|87(88([8%9]| 90
2119293 (94(95]196]97 19899 100

Number puzzle

My father remembers seeing a beautiful house for sale. It was a beautiful place.
He couldn’'t remember the price of the house, but he knew it was a 6 digit number.

¢ He remembered that the first digit was a 5 and the ten thousand'’s place

was a /.

e Heremembered seeing a number 1.

¢ Inthe hundred’s place he remembered the number was 3 times the number in

the thousand's place.

¢ He said the number in the one’s place was 4 times the number in the fen’s

place.

¢ Finally he said the number 2 was in the thousand'’s place.

What is the number?2

18 196 17 18 19 20 21 22 28 24 26 26 27 26 20 IV

a. Colour all the prime numbers.

b. What is a prime number?

c. What is a composite number?
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My mother is goin
to purchase a
house for

R498 789

My brother is
going to buy a
car for

R201 987.

The truck
fransported

334 579

tfomatoes

1. Round off to the nearest 10. Circle the digit which you look at when deciding whether

to round up or down to the nearest 10. Complete the sentences.

a.

© 2 0 O

345 8@is between 22289 gng 242870 ] 4nd would be rounded to L2428
278 947 is between and and rounded to

2489 371 s be’rween| |ond | |ond rounded fo ;
15218 965 is between and and rounded fo

593 499 999 is between and and rounded fo

. Round off to the nearest 100. Circle the digit which you look at when deciding whether
to round up or down to the nearest 100. Complete the sentences.

a.

® o 0 O

345 is between [ 345800 and [ 345900 and would be rounded to .

278 947 is between and and rounded fo

3489 371 is between and and rounded to

87 218 965 is between and and rounded to

357 499 999 is between ; and ; and rounded fo ;

. Round off to the nearest 1 000. Circle the digit which you look at when deciding
whether to round up or down to the nearest 1000. Complete the sentences.

a.

© a0 O

0

3452 is between 345000 and 346 000 and would be rounded o 346 000

278 947 is between and and rounded to

4 489 371 is between and and rounded to

60 218 965 is between ; and ; and rounded to ;
300 499 999 is between and and rounded fo

19 2 8 4 68 B 7 8 ¢ 10 M1 12 18 14




To estimate the cost of 11 pens at 95¢c each, you round down
11 to 10 pens and round up 95c to R1.

The estimated cost would then be 10 x R1 = R10,00

4. Complete the questions below:

Estimate the cost of 27 sweets at 81c each? | |

Q.
b. Estimate the cost of 41 chocolate at R5,40 each? | |

o

Estimate the cost of 199 cool drinks at R6,90 each? | |

d. Estimate the cost of 1 002 packets of chips at R4,10 each? | |

e. Estimate the cost of 19 542 lollipops at R1,99 each? | |

5. The first number below was rounded off to the second number. Was it rounded
off to the nearest 5, 10, 100 or 1 000? (The answer could be more than one of the
options.)

a. R83 was rounded off to R100.

b. R1 836 was rounded off to R1 840.

c. R104 was rounded off to RO.

d. R5 790 was rounded off fo Ré6 000.

e. R5 080 was rounded off to R5 100.

f. R5 049 was rounded off fo R5 050.

Help a friend

Create a picture which explains

to a small child the concept of
“rounding off”. (For example, if you
are walking from ... to ..., and it
starts fo rain, which place of shelter
is closer?)

Remember to show very carefully
the point af which you start rounding
off in the opposite direction.

18 16 17 18 19 20 21 28 26 2y 28 29 IV
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- Add 40 000 + 3000 + 200 + 30 + 2 +1.

- Whatis the sum of 2 300 and 6 5002 How did the \
- How many are 250 and 4 000 altogether? blue words )
- What three numbers have a total of 2502 help you? r
- Add 190 and 45.

- Whatis the sum of 2 000 and 4562

- How many are 375 and 15 altogether?

- Which three numbers have a total of 1 0002

Addition problems with up fo 5-digit

" numbers

How fast can you answer this?

. Solve the following problems. The pictures may guide you. Also use the
blue word.
a. At aschool concert, 363 adults and 655 children were seated in a hall.

How many chairs were needed altogethere What word
will help me
to choose the
operation?

VOO IWCWO NI

[0l/e/e/e/e/e/e /@ /a/a

@/e/.
/@) (@

VOOV
(O YO N
@/ee/ee/eeieem
YOOV
1 YOO @l
1 OO OO OO YO

Try to form
a picture in
your mind.
These are the
number of
seats.
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b. There were 4 876 spectators at the Pirates soccer match and 6 973
spectators at the Chiefs soccer match. How many people watched these soccer
matches?e

i. What picture do you see in your mind?

i. What operation should you use?

ii. Solve the problem.

continued @«
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digi

problems with up fo' S

nurnbers continued

» Addition

c. A farmer planted 5 389 frees in a new plantation. The old plantation has 3 893

frees. How many trees are there altogether?

2. Look at the pictures below and write an interesting addition word problem.

Koo KeKeKeKeo oo e oo e oo o
Koo KoKeKeKe o=ee oo KeeHoKeK
oo KeKeKeKeHK oo o=eo oo e HeeeK
Koo Koo e Koo oo e oo oo oo
oo KeKeKeRKeKeeK oo oo e eo e
oo e Koo e KeoHe oo e oo e oo ol
oo eKeKeKe oK o=eo oo oo oo

R RA DA RARA R RA R R RARARARAR A RARAR,
SHOROHORORORKORORIKOK

oRoRPReRORIReORORO oeteReiekekeioReels
KoK oo ReRoRoReR  oReekeiokeeiokeers

SRPRORORORORPRIRIROR +ho oo

eReRoReoRoReokoRel okoekelokeeiokeels
eRORP RO ORI oo eReokeeokeRek

HRARARARA RARARA RARARGHEART RARARH RARARARAR,
CRORPRORORIKORIKIKOR #HoHHOOHO o

eReReReRoRoReokoReR oetekeiokekeiokeels
eReReReRoRoReokoReR oetekeiokekeiokeels
PRARARARA RARARA RARA QAR RARARA RARARARAR,

oKeKeKeKeKeNKeHoKoKo  eeHoHeoeo Koo oo
oeRKeKeKeKoRe Koo  oioieoie oo Koo

eheReRoRoReRoRoReie

11 92 18 14
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3. Write an appropriate and interesting word problem for: 37 802 and 65 321,
Solve it.

Operation “Snap”

What do you need: What to do:
Cut-out 6. Step 1: Deal out an equal number of cards to each player.
Step 2: Each player puts their stack of cards face down in front of them.
Step 3: Players all turn one card face up and place it next to their face
down stack.
Step 4: Players look at each others cards to see if any of the cards have
words with same meaning).
- If yes, someone says “Snap.”
- The first person to say “Snap” gefts all the cards in the face-up stacks
that match each other. Play then continues from Step 3.
- If no, play continue from Step 3.
add - If a player gets to the end of the face-down stack before the end of
the game, he or she turns the face up stack over again and contfinues.
The winner is the player with the most cards.

plus
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Subttrac tion problems with up 5-digit’

' ntmbers

How fast can you answer this?

- Subtract 40 000 from 80 000.

- Whatis the difference between 7 800 and How did the k
5 4002 blue words

- Minus 90 000 and 55. help you?

- Decrease 100 000 by 10 000.

- Subtract 19 000 and 450.

- Reduce 50 000 with 1 000.

- Take 15 000 from 45 000.

- Take away 25 000 from 100 000.

1. Solve the following problems. The pictures may guide you. Also use the What word

will help me
to choose the
operation?

| left D

blue word.
a. At the school concert, 1 018 people attended.
363 are adults. How many seats are left over for the children?

ﬁﬁfilfilfil ’_\lli\lfi\lli\lf.l
) -

Try to form
a picture in
your mind.
These are the
number of
seats.

ST

JiJllJlullﬁJllﬂJllﬁ 8

1018 -363

24
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b. There are 34 763 trees in a plantation. In a storm 14 999 trees fell.
How many frees are still standing?

i. What picture do you see?

i. What operation should you use?

ii. Solve the problem.

continued @«
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)Sub‘rrac,‘rion problems with up to S:digit

1 urnbers continued

c. There 24 789 people traveling in taxisg 17 989 people get off after 30 minutes.
How many people are still in taxis?

2. Look at the pictures below and write an interesting subtraction word problem.

eevevevewe
sevevevewe ;
seveveveve QAN

eee® 900 11111111
2320020222 133434444
0000000000
29000000000

. 26
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3. Write an appropriate and interesting word problem for: 99 999 and 38
Solve it.

Play Operation “Snap”

What do you need: What to do:
Cut-out 6. Step 1: Deal out an equal number of cards to each player.

Step 2: Each player puts their stack of cards face down in front of them.
Step 3: Players all turn one card face up and place it next to their face
down stack.
Step 4: Players look at each others cards to see if any of the cards have

words with same meaning).
- If yes, someone says “Snap.”
- The first person to say “Snap” gefs all the cards in the face-up stacks
that match each other. Play then continues from Step 3.
- If no, play continue from Step 3.
- If a player gets to the end of the face-down stack before the end of
the game, he or she turns the face up stack over again and continues.
- The winner is the player with the most cards.

minus

subtract

16 17 18 19 20 21 22 28 24 286 26 2r 26 20 IV



Talk about money. Look at the picture and make your own story.

1. Give five different combinations of these money notes. Your combinations should
be in rands or cents.

RS +Rb

o B
o, |

e. l”ﬁ”l

2. How much does it cost? Gina wants to buy some clothes and accessories. She
visits various shops on different days. Every time she looks at her purse. Does she
have enough money?

Money
available

Cost

Need more
money?

How much do | Will get
still need? change?

How much
change will | get?

oy

Shop 1:
R79.95 for jeans

Shop 2:
R99,95 for a jersey

Shop 3:
R65,75 for shoes

Shop 4
R39,95 for a bag

Shop 5:
R55 for cellphone
airtime

28
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s

3. | kept record of my money matters last year. Please help me, | lost some |

information.
Month Pocket Money Expenditure Savings Zf;:)}
— m—_:_-”“"_l B . g r - 3
January ;m __ R SR
- E——-—: = = |

February ;ml
"E__._—”_I [ = . S| i

April

May

June

July i . : S ;
September ;il Eﬁﬂ . O @ @
October ;i ; ﬁj . @ .

|k -
November i - .I al
oo | B0 B0 QOO0 OE
Total:

a. What was the total amount of money you received in one year?

b. What was your total expenditure for the year?e

c. What was your total savings for the yeare
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E.More about money problems

Read the comic strip, and tell what you think Palesa will do next?

Where ... and know Hmmml!! | think
should how much | | should minus

Mom, | want
to start save

money, | starte r spend. what | spend
from what | get.
Excellent! Great, you
That is You first need Wh)g;edoenyou must have a
great my to know how think you great teacher

| child.

4 much you get

4 teaching you
each month.

this.

4 should do
nexte

1. Help me to calculate my savings for the month using the table below. The {ill slips
may help you.

F'fza:;ﬂ » C°o Ring-ring
; e/: /¢y, Cells
Tel: (011) 907 0803 Voy (01,) i o””'b
val 437523443973 a > Q| Tel: (011) 707 0805
Date: 3 March 2011 ; Ofs. % % Val 437838972934 Shoe-shoe
Chips RI5.99 Octs. 4’0;-% Date: 20 March 2011 Shops
Fish rioge /| g 207, s Ros0o | Tel: (011) 907 0806
16 % VAT R 5.04 70;,.1‘-_ A ;”9,99 Vat 4378330948092834
TOTAL: R41,02 _ 1.8 Date: 22 March 2011
—~~ 0".0 Airtime: R105,99
14% VAT R 15.54
TOTAL: R120,83
Income Expenditure Savings
Pocket money: R150,00 Charity: R50,00
Birthday money: R120,75

Washing and polishing R25,00
Dad'’s car:

Totals

30
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2. Do the following money problems.

a. My pocket money is R75 per month. | spend the following: R15,00 at ’rhe

school tuck shop. R14,75 for a new pair of socks, R25 for a movie ticket. | also
gave R12,50 to charity. Complete the table below.

Income Expenditure Savings

Totals

a. Look at the information in the table below. Write down your own word

problem.
Income Expenditure Savings

350 Airtime: R29
Tuck shop money: | R52,50
Charity: R75,75
Jeans: R95,99
Movie ticket: R25

Totals

Use the following words/phrases to create a picture:
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LAddifion up to 6-digit numbers

What is the difference between the numbers.
NN N N N i

10 000 | 20 000 | 30 000 | 40 000 | 50 000 | 60 000 | 70 000 | 80 OO0 | 20 OO0 {100 OO0

10005 | 20 005 [ 30 005 | 40 005 | 50 005 | 60 005 | 70 005 | 80 005 | 20 005 (100 005

1. What number comes nexi?

a. 60 000, 70 000, 80 000, . 72 500, 82 500, 92 500,

C. 149 999, 159 999, 169 999, d. 165250, 175 250, 185 250,

2. Complete the table: Use the given number each time.

Number Add 10 Add 100 Add 1 000 Add 10 000

187 563 18573

143 784

127 899

136 999

189 999

Examples:

Example 1:

135 689 + 42 999

= 100 000 + 30 000 + 40 000 + 5000 + 2 000 + 600 + 900 + 80 + 90 + 9 + 9
100 000 + 70000 + 7000 + 1 500 + 170 + 18

100 000 + 70 000 + 7 000 + 1 000 + 500 + 100+ 70+ 10 + 8

100 000 + 70 000 + 8 000 + 600 + 80 + 8

178 688
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A

Example 2: Example 3:
13 5 6 8 9 T 11
+ 4 2 9 9 9 13 56 8 9
1 8 (9 +9) + 4 29 9 9
170 (80 + 90) 178 6 8 8
1500 (600 + 9200)
7 000 (5000 + 2 000)
7 00O0O0 (30 000 + 40 000)
1 0 000O (100 000 + 0)
1 7 8 6 88

3. Use any two methods to calculate the following. Write the steps down.

Q. 145 345 + 32 453 = b. 137876 +52128 =
C. 163762+ 25289 = d. 152784+ 35568 =
e. 172 689 + 29 999 = f. 99999+ 99999 =

4. Test your answers to questions 3 a to f using the inverse operation of addition. Use a
separate piece of paper.
continued @,
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5. Solve the following word problems.

LAddition up fo 6-digit numbers continued

a. The chicken farmer delivered 29 500 eggs on Monday and 32 700 on
Tuesday. How many eggs are there in total?

b. We walked 120 000 mm from point A to B. We walked another 350 000 mm
from point B to C. How far did we walk. Give your answer in mm and m. Which
is more appropriate to use m or mme

34
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6. Write an appropriate and interesting word sum for:
150 000 and 30 000. Solve it.

What is the size of your number:

What do you need: What to do:

- Use the 1 000s, and - Roll the 1 000s die.
10.000s and 100 000s - Add the number landed on to the first number on the
dice. (Cutout 3) blue card. Write your sum on a piece of paper.

- Piece of paper. - Do the same with the next four numbers.

- Repeat the activity with the 10 000s and 100 000s dice.
- Learners check each others sums.
The winner is the person with the most correct answers
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ESubltiraction with up to 6-digit numbers

What is the difference between the numbers.

10 000 | 20 000 | 30 000 | 40 000 | 50 000 | 60 000 | 70 000 | 80 OO0 | 20 OO0 {100 OO0

100092 | 20 009 | 30 005 | 40 009 | 50 009 | 60 009 | 70 009 | 80 009 | 20 009 | 100 009

1. What number comes nexi?

a. 187 500, 177 500, 167 500, . 135250, 125 250, 115 250,

c. 1562999, 142 999, 132 999, d. 143 654, 133 654, 123 654,

2. Complete the table: use the given numbers:

Number Subtract 10 Subtract 100 Subtract 1 000 Subtract 10 000

164 389 164 289

158 304
187 643

199 999

109 000

Examples:

Example 1:

185743 — 59 857

100 000 + (80 000 — 50 000) + (5 000 — 9 000) + (700 — 800) + (40 — 50) + (3-7)
100 000 + 30 000 + (5 000 — 9 000) + (700 - 800) + (30 - 50) + (13-7)

100 000 + 30 000 + (5 000 — 9 000) + (600 — 800) + (130 - 50) + (13-7)

100 000 + 30 000 + (4 000 — 9 000) + (1 600 —800) + (130 — 50) + (13-7)

100 000 + 20 000 + (14 000 — 9 000) + (1 600 —800) + (130 - 50) + (13-7)

100 000 + 20 000 + 5000 + 800 + 80 + 6

125 886
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Example 2: Example 3:

1 8 5 7 4 3 7 1416 13 10
- 5 9 85 7 1" 8 57 A 3
6 (13-7) - 5 9 8 57
8 0 (130 - 50) 1 2 5 8 8 ¢
8 0 0 (1 600 — 800)
5 0 0 0 (14 000 — 9 000)
2 0 0 0 O (70 000 — 50 000)
+10 000 O (100 000 - 0)
1 2 5 8 8 6
3. Use both methods to solve the sums:
a.188 763 -56 541 = . 175754 — 44 639 =

Continue on an exira sheet of paper

C. 169 657 — 53 489 = d. 163 864 — 48 986 =

Continue on an extra sheet of paper

e. 157 802 - 99 999 = f. What method do you prefere Why?

Continue on an extra sheet of paper

continued @
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VSub‘rrac‘rion with up to 6-digit numbers

coniintued

4. Solve the following word problems:

a. There are 190 500 fomatoes coming from a tomato farm. 47 925 were
rotten. How many tomatoes can we send to the market?e

b. Children in our grade drank 145 000 ml of water. The grade fives drank
28 500 ml less than us. How much did they drink? Write your answer in ml
and litres. Which measurement is more appropriate to use?

5. Use a calculator to check your answers in question 4.

38
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6. Write an appropriate and interesting subtraction word sum for:
190 000 and 35 000. Solve it.

What is the size of your number:

What do you need: What to do:

- Use the 1 000s and - Rollthe 1 000s die.
10 000s dice. - Subtract the number landed on, to the first number on
- Piece of paper. the blue card. Write your sum on a piece of paper.

Do the same for the next four numbers.

- Repeat the activity with the 10 000s dice.

Learners check each others sums.

The winner is the person with the most correct answers
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2Addition and subtraction

-

What is the difference between the numbers in each of these rows?

100 000 200 000 300 000 400 000 500 000

91 000 101 000 201 000 301 000 401 000

70 500 80 500 90 500 100 500 110 500

What is the difference between the numbers? Count backwards.

1. What number comes nexi?

a. 100 000, 200 000, 300 000,

b. 172 500, 272 500, 372 500,

C. 199 999,299 999, 399 999,

d. 283 321, 293 321, 303 321,

2. Complete the table:

Number Add 10 000 Subtract 10 000 Add 100 000 Subtract 100 000

223 340

367 245

378 392

263 287

399 999

40
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Examples
Example 1:
278 467 + 197 539
=200 000 + 100 000 + 70 000 + 90 000 + 8 000 + 7 000 + 400 + 500 + 60 + 30+ 7 + 9
300 000 + 160000 + 15000 + 200 + 90 + 16

300 000 + 100 000 + 60 000 + 10000 + 5000 + 200 + 20+ 10 + 6

400 000+ 70 000 + 5 000 + 900 + 100 + 6
400 000 + 70 000 + 5 000 + 1 000 + 6

400 000 + 70 000 + 6 000 + 6

476 006

Example 2:
27 8 4 6 7
+ 19 7 5 3 9
16
920
92 00
1 5000
1 6 0000
+ 3 0 00O0O
4 7 6 00 6
Test your answer.
4 7 6 0 0 6
-19 7 5 3 9
7
6 O
4 0 O
8 0 0 O
7 0 0 0 O
+2 0 0 0 0O O
27 8 4 6 7

18 16 17 18 19 20 21

(7+9)

(60 + 30)

(400 + 500)

(8 000 + 7 000)
(70 000 + 90 000)

(200 000 + 100 000)

(16-9)

(90 - 30)

(900 — 500)

(15 000 — 7 000)
(16 000 — 9 000)
(300 000 — 100 000)

Example

=+

33
1
8
7
6

ol ~ —
O|Ww o —

1
7
9
7

A_IM_I

O~ N0 N

Test your answer.
2 9 99

3

A
-1

2

continued @«
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LAddition and subtraction continued!

Yy

3. Use any two methods to calculate the following. Write down the steps.

Q. 233432+ 124321 = b. 256 782 + 243 219 =

Continue on an exfra sheet of paper

c. 318764 + 271 287 = d. 357 573 + 122 847 =

Continue on an exfra sheet of paper

€. 276 894 + 228 248 = f. 278 872+ 199 999 =

Continue on an extra sheet of paper

4. Check your answers to Question 3. (Remember the inverse operation of addition
is subtraction.) Show your checks.

Continue on an extra sheet of paper
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5. Complete the following: B,
a. You live in a street with 6 houses. Each family owns a car. The 1st
family’s car cost R100 000. The 2nd family’s car cost R59 900 more. The 3rd
family’s car cost R25 000 less than the 2nd family’s car. The 4th family paid a
half a million rand for their car. The 5th family paid the same as the 1st family,
and the last family paid R250 000 less than the 4th family.

How much did each of these families pay for their cars?

i. 2nd family

ii. 3rd family

iii. 4th family

iv. 5th family

v. 6th family

b. What is the value of the first and second family’s cars?

c. Show your calculations for a. and b.

Confinue on an exira sheet of paper

d. What is the value of the fourth and third family’s cars?

e. What is the difference in price between the 4th and the 3rd family’s carse

What to do: »\‘\ -\ 0

| dropped my puzzle 2

pieces. Help me to fill the

spaces so that each row 0 ]'3 8 1
and column adds up to 9

30. You can only use each
number once.

There are 144 ways to ‘\2 3 \ 5 A

place the pieces
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E.Moreraddition and subfrac tion

What is the difference between the numbers? Count forwards.

<~ ™\ <™ T ™ T ™
600 000 700 000 800 000 900 000 1 000 000
500010 600010 700010 800010 900010

What is the difference between the numbers? Count backwards.

1. What number comes nexi?

a. 700 000, 800 000, 00 000, I;I . 683 500, 783 500, 883 500, I;I
C. 699 999,799 999, 899 999, I;I d. 577 382, 587 382, 597 382, I;I

2. Complete the table:

Number Add 10 000 Subtract 10 000 Add 100 000 Subtract 100 000
1893 490
1 473 894
1 302 809
1 200 008
1 500 900

3. First estimate and then calculate the answers to the following:
Q. 784 459 + 378 = b. 654 458 + 9 832 =

Continue on an extra sheet of paper

C. 689492+ 12599 = d. 529 376 + 298 743 =

Continue on an extra sheet of paper

© 9 2 8 4 8 G 7 8 © 10 99 912 18 14

44



4. Subtract the following. Before you calculate estimate the answer. Then
estimate the answer by rounding off the two numbers to be subtracted.
How do the three answers differ?

a. 987 342-199 =

. 856 439 — 5 568 =

Confinue on an exfra sheet of paper

C. 789 453-78999 =

d. 654 342 -285 492 =

Continue on an exira sheet of paper

5. Mpho and David had 52 sweets. If Mpho ate 11 sweets and gave 5 sweets to
David he would have 19 fewer sweets than David. How many sweets did David

have in the beginning?

Continue on an extra sheet of paper

| dropped my puzzle pieces

What to do.

| dropped my number
puzzle pieces. Help me to
fill the spaces so that each
row and column adds up
to 34. You can only use
each number once.
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2 17 10
1 %) P
1
2 7 é
%)

20 2y 25 20 0




Words to remember: i . f tvi
op view . . ront view
bottom view side view back view

1. This person is looking at a car. Where is the person standing?

46
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2. Imagine around cake.

a. If you look at the cake directly from above, what shape will you see?

b. If you look at the cake directly from the side?

c. If someone has cut a piece out of the cake, and you are looking at the side of

the piece of cake, what shape will you see?

3. We often think of houses as looking like this:

a. Where would we be standing for the house to look like that?

b. Move to a different side of the house. What does it look like now (what shapes
make up the picture we see now)?

continued &
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E\VieWS| continued

4. Look at the plan below. It shows the view of a house from above. The white
f squares in the middle represent the garden. Complete the table below.

A|lB|C D|E|F|G|H|I|J|K
1 |« e

2

3

4 | b

5

6 | C

7

8

9

(@]

R . g Area Room area as fraction
o-ordinates . .
eom (in square units) of whole house
Al, B1, C1, D1, EI, 15
a 5x3=15 —_—
A3, B3, C3, D3, E3 100 or 0,15

5x2+2=12

48
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A

5. Draw your dream house:
a. From above (top view).

b. From the front.

Views everywhere

How fast can you identify the view. Tick the correct answer.

e

| top | front | side | | top | front | side | fop | front | side | top | front | side |

| top | front | side |

| top | front | side | | top | front | side | | top | front | side |

continued @
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Find all the quadrilaterals in this
picture.

Can you identify the same
quadrilaterals in your class?

Measure their sides.

1. Answer the following questions:
a. You know the lengths of 3 sides of a parallelogram: 14 cm, ? cm and ? cm. Is
that enough information to work out the 4th side?¢ If so, what isit2 Make a
drawing to support your answer.

Confinue on an exira sheet of paper

b. You know the lengths of 4 sides of a pentagon: 3cm, 4 cm, 3,56 cm and 6 cm.
What will the 5th side be? Make a drawing to support your answer.

Continue on an extra sheet of paper

c. What do we name a shape where not all sides are equal?
d. Circle the irregular shapes. Name each shape

eo 4 ien

W 191 2 8 4 8 B ¥ & © 90 91 92 18 94
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2. How can you tell that there is something wrong with this diagram‘?

6cm
5 % 5
O O
6cm

3. Draw the following:

a. Arectangle with sides: 4,5 cm and 14 mm. b. A square with sides of 2,3 cm.
c. Aniregular pentagon with one side that d. Anirregular hexagon with all sides of different
equals to18 mm. length.

Magazine or newspaper search

Find the following shapes in a magazine: parallelogram, rectangle and a square. Paste it
here and describe it according to angles and sides.
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Angles smaller than 90 °©

\

An angle of less than 90 ° is
an acute angle.

Angles bigger than 90 °

\
An obtuse angle is more than
90 ° but less than 180 °.
A reflex angle is more than
180 ° but less than 340 °.

Angles equal to 90 °©

\

An angle equal o 90 " is a
right angle.

3. Say if the shown angles are bigger, smaller or equal to 90° and give them their
correct names: acute, right, obtuse or reflex.

b.

18 16 17 18 19 20 21

| am an architect

Draw a building with angles bigger, smaller, and equal to 90 degrees.

22 28 24 28 25 2y 23 20 v




§\
'V

( Angles bigger or smaller than 90

Look at the pictures. Find
angles that are smaller and
angles that are bigger than
90 ° on the South African flag.

1. Outline at least 2 angles that are bigger than 90 ° in red, and/or 2 angles that are
less than 90 ° in blue in each photograph.

N
o

) ||w" ““l||

-
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2. On the protractor draw in red:

a. An angle bigger than 90 °. b. An angle smaller than 90 °.

3. Tick the angles that are bigger than 90 ° in red and those that are smaller than 90 °
in blue. Name the type of angle. Name the type of angle.

o . \

| am an architect

o e Add more angles
to the drawing you
2 did for the previous
. : worksheet.

Some angles should
be smaller and others
bigger than 90°.
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LReflection, rotation and franslation

Revise the following. Say which shape is the original shape.
Reflection Rotation Translation

i Flip \7 @ Slide
Point of rotation

1. In nature we get the most beautiful examples of reflections. Show the line of
reflection on each picture and then describe each reflection.

The centre line is called
the line of reflection or
mirror line.

The line of reflection is
horizontal. The reflection
of the elephants, trees
and island have the same
size as the original image.

2. Find a 4 2\
picture on
reflection,
paste it
here and
describe it.

56
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2. Show the centre of rotation and describe each rotation. Here are some words that
might help you to describe the rotation: distance from the centre, circle around the
centre, point of rotation, angle. Note that in picture b we have two examples

3. Describe the translation. Here are some words that will help you to describe the
translation: moving, rotating, not rotating, reflecting, not reflecting, same distance,
same direction, shapes.

Maths and Nature

Describe this plant using fransformations.
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_ ‘ 84a Ln\argemen‘r and reduc Tion
\\N -

What does enlargement mean?

*  What does reduction mean?

e |f we don't have grid paper can we still
reduce or enlarge items?e

* Yes, by using aruler!

1. Say whether the following have been enlarged or reduced.

a. b.

\ 4

C.

=t

2. Explain what happened with the shape using words such as enlarge and reduce.

>

9 15em 3cm écm

ch
3

4cm 4cm
ﬁN 7\
3 3

1cm
" [1s

© 19 2 8 4 8 B ¥ & © 90 91 92 18 94
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3. Use the grid paper below to draw the following: . /

a. Draw a rectangle with an area of six blocks. Then draw the same rec’rngl
reduced by two in green. Then draw a rectangle enlarged by three in blue.

b. If each block in the grid above is 1 cm by 1 cm, explain the reduction and
enlargement in cms.

c. Draw any object in red. Reduce it to half its size, in blue. Explain your reduction
incm.

continued @
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Look at the diagram below. Discuss it in your groups.

Purple rectangle:

The length = 3
The width = 2

purple rectangle.

purple rectangle.

LEnlargement and reduction continued

Wy

2

Red rectangle:
The length = 9
The width = 6

The length of the red rectangle is 3 times more than the

Ix3=9

The width of the red rectangle is 3 times more than the

2x3=6

Therefore, we say that the red rectangle is enlarged 3
times.

4. Look at the rectangles. Answer the questions below.
Orange rectangle
a. The length =
b. The width =
Blue rectangle

c. The length =
d. The width =

e. The length of the blue rectangle is Q times more than the orange
rectangle.

f. The width of the blue rectangle is Q times more than the orange rectangle.
g. The blue rectangle is enlarged Q times.

5. Answer the following questions:
2cm

-.—

Orange rectangle
a. The length =
b. The width =
Blue rectangle

c. The length =
d. The width =

e. The blue rectangle is

enlarged ; times.

5cm

60
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6. By what factor is this shape enlarged? Write down all the steps.

7. Enlarge the rectangle by:
a. 4 b. 2

8. Complete the table. Make drawings if needed.

Rectangle Perimeter Area Enlarge by: Perimeter Area
a. Length: 4cm 5 Length:
Width: 2cm Width:
b. Length: 3cm 8 Length:
Width: 2cm Width:
c. Length: 7m 6 Length:
Width:  5m Width:
d. Length: 9m -IO Length:
Width: 8 m Width:

What do you need: What to do:
Square paper Find or draw a picture. Enlarge the picture by 2.
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The degree
Celsius (°C) is
the metric unit
for measuring
temperature.

1. Choose the correct answer.

a. What happens to the liquid in the thermometer when
the temperature risese

i. The mercury rises.
ii. The mercury drops.

b. What happens to the liquid when the temperature
drops?¢
i. The mercury rises.
ii. The mercury drops.

c. The temperature on a very hot day in South Africa is:
i. 15°C
ii. 35°C
ii. 0°C

d. The temperature on a very cold day in South Africa is:
i. 18°C
ii. 28°C
ii. 4°C

i. 15°C
ii. 24°C
iii. 29 °C

e. The temperature shown on the thermometer is: @j
:
S

© 9 2 8 4 85 G 7

8 9 10

10| &
105 Water boils

100| at 100°C

95
90

85
80

75
70

65
60

55
50

45
40 | sody

35 temperature
30 | 35°C

25 Hot day
e 15°C

15 Cool day
10

5

0

-5 0°C
-10 Water freezes

N
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2. Match the temperature to the correct thermometer.

45 b. e .

40 . 10
35 40 5

30 35 0
25 30 -5

20 25 -10

.|
45

3. Write down each temperature.

a1 o] d [ | e[|
s 1w
20 15
45
b - 15 10
40 100
58 35 10 5
50 90 - 0 ;
o 88 20 -5 o
40 an an

4. Record this week’s minimum and maximum temperature.

Sunday Monday Tuesday | Wednesday | Thursday Friday Saturday
Min:g Min:g Min:g Min:g Min:g Min:g Min:g
Max: g Max: g Max: g Max: g Max: g Max: g Max: Q

Describe the temperature for the week:

Celsius and Fahrenheit

Have you ever heard of
the word Fahrenheit?e

Find out what it means.

How does it differ from
Celsius?e
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Look at the top of the red line. There are numbers It means minus ...
below the zero. What something.

l does this mean?

Look down atf the number line for the
. a

| am sure our feacher
will show us.

nearest ten.

Count up the lines to find the exact
temperature.

Write the temperature with a degree
mark °and a C.

o
1. Answer the following questions on temperature: C
a. What is the temperature on a hot, sunny day?2 Show it on the b
thermometer on the right hand side.
b. What does it mean for the temperature to be 2 degrees below L
zeroe 100
95
20
Show it on the thermometer. 02
c. What sign would you use to show this number is below zero? =«
75
2. Wirite the following temperature in numbers and symbols: 70
a. 5 degrees Celsius. | | 65
b. 3 degrees Celsius below zero. | | 60
c. 10 degrees Celsius above zero | | 55
d. 10 degrees Celsius below zero. | | 50
e. The temperature is minus 2 this morning in Joburg. | | 45
40
I understand now. If the temperature falls below 0 °C
(zero degrees Celsius) we use negative numbers to say 35
= how far below zero it has fallen. Such as -5 °C. 30
25
20
3. Is it very often below zero degrees Celsius in South Africa? Explain 15
your answer. 10

64
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t %, &
4. Write down each temperature. e

ol 1 ol | [ ] o[ ] e[|

5 5 5 5 5
0 0 0 0 0

-5 -5 -5 -5 -5

-10 =40 -10 -10 -10

\_ P F % P " A N

f. Which temperature is the coldest?

g. Which temperature is the warmeste

5. Complete the following:
a. The temperature -6 °C is colder than -4 °C as it is 2 ° less than

b. The temperature 7 °C is warmer than -8 °C as it is more than
c. The temperature -9 ° C is colder than -6 °C as it is less than

d. The temperature -5 °C is warmer than -10 °C as it is more than
e. The temperature -15 °C is colder than -9 °C as it is less than

6. Write down what you will do if it is below zero in your area.

Temperature and negative numbers

Make the same cards as below from paper or cardboard. Cut them out and place them in order from
the smallest to the largest number.

" e
PRE) e e
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<liemperafure scales and displays

how you think each one is used.

Look at the pictures and compare it to the thermometer used in the previous worksheet. Explain

i }
[

/]

i1l

\

\

/

1. Fill in the correct answers

, and

O

. The units of the

and

We use thermometers to measure the temperature
of the air, our bodies, food, and many other things.

There are analogue and digital thermometers. An
analogue thermometer shows the temperature
directly on a scale or dial; a digital thermometer
changes the analogue reading into an electric one
shown as numbers on a display screen .

a. Temperature is measured in many different scales, including ,
scales.

scales are called degrees; the

0

. The symbol for degreeis __.

(o}

. We use the

to measure temperature.

2. Complete the table below.

in South Africa

units of the Kelvin scale are called kelvins.

Share this table with an
adult that needs to convert
Fahrenheit to Celsius or vice
versa.

3. Write the digital times in words.

Water boils 212 °F a.
Water freezes 32 °F b.
Normal human body temperature 98,6 °F C.

70 °F d.

66
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4. Use the temperatures above to answer the questions.

a. What will ascending order mean when we work with temperature?

b. Write the temperatures in Question 3 in ascending order.

c. What will descending order mean when we work with temperature?

d. Write the temperatures in Question 3 in descending order.

e. When in everyday life will we write temperature in ascending or descending
ordere Why?

5. We have learnt that normal body temperature is 37 °. Studies show us that body
temperature can vary from person-to-person, their age, what they have been
doing, the time of the day and the part of the body you take the temperature
from. This is the range for the normal body temperature. Fill in all the other possible
readings you can have on a digital thermometer counting in tenths.

36,1°
37,2°

Challenge

Beneath Earth’s surface, the temperature increases 10 °C every kilometre. Suppose that the surface
temperature is 22 °C, and the temperature at the bottom of a gold mine is 45 °C.What is the depth of the
gold mine?
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What part of the square is yellow? blue? green? red? purple? Give your answer

in fractions.
The symbol for
;\”rlr?ef éﬂ:ees percentage
PERC : s %.
1 N

Oh! I have
80 percent
' formy test.
f o

1. What fraction of the square is blue?

¢t
d

Yes, it means
you have 80

out of 100 for
' your fest.

2. What percentage of the square is blue?

a. b.
i H i
i. ii.

73
3. Colourin 100 - 3. Colourin 99 per cent.
Write your answer as a percentage. Write your answer as a fraction.

68
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A percentage is an
amount out of 100
and is written like
this: %.

What did Parts of a whole can
we learn so 3 | be described using
& fare .= percentages foo.
> 4 :

5. Complete the following:
one quarter half three quarters whole

25 % 50 % 75% 100 %
a. 100 % means all of a whole.

b. 50 % means ; of a whole.
c. 25 % means ; of a whole.
d. 75 % means ; of a whole.

6. What percentage of the circle is red?
C d

“. w9

7. Look at the diagram and answer the questions below.

= < < = < < < < < ©
C C C C C C C C C 6
9 9 9 9 9 ko) ko) 9 9 2
= o~ ™ < 7o) NS ~ © o~ 2
a. 1 tenth = % b. 4 tenths = % C. 9 tenths = %

What does cent mean?

century centipede

centimetre
cent percent
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88 yPercen‘rages and decimals

44

Match the fractions, decimal fractions and percentages that stand for the same
amount:

1. Complete the table below.

Fraction Percentage Decimal fraction
89 0,89
100
58%

.70
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2. Complete the following:
a. Colourin one half of each shape. A half can be written...

As a fraction:

As a decimal:

As a percentage:

b. Colour in one quarter of each shape.
A quarter can be written...

As a fraction:

As a decimal:

As a percentage:

3. Answer the following:

a. Whatis 50 % of R1,00¢ d. Whatis 25 % of R1,002
b. Whatis 0,5 of R1,00¢ e. Whatis 0,25 of R1,002
c. Whatis %of R1,002 f. Whatis % of R1,00¢

4. Complete the following:

There are 120 children in grade 6.

a. 50 % of the children are boys. How many children are boys?2

b. 25 % of the children like strawberry ice cream.
How many children like strawberry ice cream?

c. What percentage of children like other flavoured ice-creams?

How many children like other flavoured ice-creams?e

Advertisement search

Go through a newspaper. See how many times can you find the
symbol %.

Bring it fo class to share with the other children.

16 17 18 19 20 21 22 28 24 28



All shoes 50 % discount.

a. Whatis 20 % of 1002 20

1. Look at the diagrams and answer the following:

All jackets 25 % discount.

Look at the pictures below. Make up you own prices to explain the discount.

All skirts 10 % discount.

© 9 2 8 4 85 G 7

9

10 19

0 10 20 30 40 50 60 70 80 90 100
10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

. What is 40 % of 2002 ;

0 20 40 60 80 100 120 140 160 180 200
10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

c. What s 40 % of 3008 |——|

0 30 60 90 120 150 180 210 240 270 300
10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

d. What is 80 % of 4002 L——|

0 40 80 120 160 200 240 280 320 360 400
10% 20% 30% 40% 50% 60% 70% 80% 90% 100%

e. What s 70 % of 500 ——

0 50 100 150 200 250 300 350 400 450 500
10% 20% 30% 40% 50% 60% 70% 80% 90% 100%



3. Answer the following:

a. What is 50 % of R1002 L] b. What is 25 % of R1002 ____|
c. What is 50 % of R502 L] d. Whatis 25 % of R502 _____|

4. The music shop is having a sale in which they are offering 30% off the marked
price of a CD you want to buy. Another shop nearby is offering the same CD at
the same price, and the sale sticker says you can get % of the price off. Which
shop will you buy from and why?2

Go through a newspaper.

® 00 U Q

See how many times can you find discounts offered on goods.

. How many small blue cubes are there? Q

- =1 000 small cubes

How many small cubes are there? Q

How many small blue cubes are there? Q
How many small white cubes are there? Q
What percentage of the small cubes are blue? Q
What percentage of the small cubes are white? Q

How many small cubes are there? Q
How many small white cubes are there? Q

What percentage of the small cubes are blue? Q
What percentage of the small cubes are white? ;

Advertisement search
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Basket 1 Basket 2

1. How much do | save on each basket?

What is in my basket? Calculate the total cost of each basket.

Which basket Discount Am?un’r S Savings
discount
25 %
50 %
Basket 3
10 %

. Which basket cost the least?e

. Which basket cost the most2e

a

b

c. On which basket did you save the least?e
d. On which basket did you save the most?
e
f

. Whatis the total cost of all the baskets after discount?

© 9 2 8 4 85 G 7

. What is the total cost of all the baskets before discount?
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LUCKY CUSTOMER

Scratch card
Three trolleys in arow. 10 % off.
Four trolleys in a row. 20 % off.
Five trolleys in a row. 50 % off

2. Here are four families’ groceries for the month.

Family 2
Family 3

Family 4

R999.99

Total cost Discount coupons Total amount

R1 500,00 R1 275,00 R1 687,25

Family 1

der
W Os‘(‘\.\ng g((;\g
R20 Milk

Lucky Customer scratch card.

Lucky Customer scratch card.

Lucky Customer scratch card.

g9 9990

Go to your nearest shop or shopping centre.
Find out about discount prices.

How much can you save?
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Say where you think you will look for the following world data.

Children liking

Todoy's chocolate ice
: SERUIEEN Earthquakes cream
Language
spoken
Learners with Lorge§f \J
~ cell phones. ’w

1. “Do the children in our school eat a healthy breakfast?” What do you normally eat
for breakfast? Tick whether you normally eat any of these things for breakfast.

i

a) Cooked porridge

b) Cereal with added sugar

c) Cereal without added sugar
d) Bread

e) Fruit

f) Yoghurt

g) | don’t eat breakfast

h) Something else (please say what). |

[ ]
[ ]
[ ]
[ ]
[ ]
[ ]

2. You need to find out what the favourite chocolate of each learner in your school.

a. What type of data will you collect? | |

b. How will you collect it2 | |

c. Where will you find the information?

d. What will the data tell use

. Do | think the data can help us to answer the question? Why?

76
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¢ 1 - | A
- r v o
Y d | i
; 4 if -
- : B,
. b

3. Draw up a frequency to record the data given below.
Put the names in order starting with the most common name.

Sam said: “120 .
; — le are Susan said: “127
Betty's tally for Bongi: "Quite a peop coplo are
called Sam.” peop
people called few people are called Max.”
Jonathan. called Mbali.”
Bongi said: -
WW W M M W “Another 52 Thabo sou.d: “
//////// //// //// M W people are called was surprised fo
Mbali.” find that my name
y &/ W did not winl” 99
people have the
y /i y /a4 Lilly said: *128 same name as
people are called me."”
WW W //// //// W Peter.”
Betty said: *“I
M\ S -
] S i people with the
Thabo fognd more Lilly said: “I forgot usan said: name Jonathan.”
people with the about the 5 Peter's forgot my brother
SeimE Melme. fiving in Second and cousin are
—— also called Max."”
Names Frequency

W I I I JH I 0 0 T T 00 T T T T T T o i ol
Ve
VU
W I I T I 0 A0 0 T I 0 I T T T T T o ol el )
Ve
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Look at the table. Make your own story using words such as.

Temperature Tally
0°C - 5°C y
6°C —10°C y/ &/
nec-sc | T
16°C - 20 °C W)
20°C -25°C y /A

1. Grouping data
When a large amount of data has to be collected
it may help to tally it.

The following tally chart represents the ages of 200
people who went to a school concert.

LGrouping and ordering data

group

temperature

tally

table

Age Tally Frequency
o | AN ?
10-19 | )/

2029 | I

039 | I I

w9 | I I

so-s9 | I

6060 | W

079 | I

80-89 ///

920-99 /

I£:

© 9

a. Complete the table by filing in the frequencies.

2 8 4 8 G ¥ 8 © 10 94
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b. How are the ages grouped?

c. You decide to group the ages differently. The first group is 0-5. Group the rest of
the ages. Draw a table like the one on the previous page and complete it.

continued @
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( rouping and ordering daita continued

;

y 2. You got the information below on a piece of paper. Record this data onto the
table on the next page.

Tempera ture

e v L
_2CJJ/7////J//

45c///JVJJJ¢JJ///
Lo AL F AN A Al ALt A
B% Il A AST A Biddof Lo
L8 S L AT Sl ol A ok st Ll
7c¢VV///J/%/¢///V//V/J
(8% il ol F sl AL Lt S A A AL
|QCw«/JY/J/%/w///VJ////JV/
1oc/JJ/¢//J//¢J///V////J/J/&
W% oo Tl L g A A Lol N, AL A NN NS
5% o7 Fadated L kol alnd o W S w Y XY LA T d VA
B VS S LA AL L ol Al AN AN A
WP L AL AN AALALAAAT LA AN A
\5c¢JV¢VJ¢/JJV/JJVJ/V

B ool il A A AL ok o
l']c\/\/\/\/\/\/\/\/\/-/\/\/\/
R Wl ol L L AAA AN
ek S A
o s
2% VLS
>ye VWV VY
>3 VS
we vy

|

- 80
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Temperature Frequency

T iy compeion..
I 1M 7 141 T T 0 T
I T 0T TR 0T T 0 I T T T T 0 I 0 I I
Vi s d ey ey ey ss

Sign:

81
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82

How many apples were eaten this week at the school?

i =10 apples Monday i i i i i

Tuesday i i i

i Wednesday i i ii i i
= 5 apples

: 3
XX I X
1. Look at the pictograph and answer the questions.

- Pap and stew % % % G
é = 20 children Hambuger S S S S S S
Hot dog % % % % e

G - 10 children Curry and rice % % % G
Sandwiches % % %

How many children have chosen pap and stew as their favourite meal? ;

Thursday
Friday

Favourite food in our school

How many children have chosen sandwiches as their favourite meal? ;

How many children have chosen hamburgers as their favourite meal? ;

o 60 T 2

How many more children like the most favourite meal than the

least favourite meal? Q
How many children were asked? ;

f. What if the burger picture represented:

@

Pap and Curry and

e Hamburger | Hot dog s Sandwiches
S
children
‘ =25
children

W 19 2 8 4 8 B 7 8 © 10 91 12 18 14



2. Use the pictograph to answer the questions.

Books read over the last 4 years.

Key:

ﬁ 24 books

a 12 books

Lydia ﬁ ﬁ ﬁ ﬁ
Lindiwe ﬁ ﬁ ﬁ
Dan ﬁﬁﬁ
sero J QAT
4

a. How many books did Lindiwe read? | |

b. How many more books did Lydia read than Dan? | |

c. Two children read the least number of books. How many books did they

read? | |

d. How many books do you think Lydia,
Lindiwe, Dan and Sipho will read in 8 years?

3. Answer the question on the pictograph. | 1} E = 50 000 houses

2015 Housing project

Key:

= 100 000 houses

a. How many houses should still be

builde Q

b. How many houses are builte Q
c. How many houses are in the process of

being built? Q

d. Calculate the total number of houses in
this housing project.

I

How many did they see?

‘ = 25000 insects , ‘

Houses Houses
Houses : d -
built be'?g plannef:l When and where do you think this was?
built to be build

18 16 17 18 19 20 21
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Bread eaten in four days.

= 10 loaves

= 5 loaves

Chart title:

84

. Look at the pictograph and complete the pie chart.

Monday %
Tuesday %%%%%

Wednesday %% § 3
Thursday % ve

y

2. Answer the following questions:

a.

o.

How many loaves of bread were eaten on
Mondaye ;
How much bread was eaten on Wednesday?¢

On which day was the most bread eaten?

]

. How many loaves were eaten in total2

What fraction of bread was eaten on Tuesday?
Q Thursday?e Q Monday?¢
; Wednesdaye¢ ; Remember to

write your answers in the simplest form.

W 19 2 8 4 8 B 7 8 © 10 91 12 18 14




3. Look at the pie chart and answer the questions.

lce cream liked by children in
grade 6.

18

42
N 14

Chocolate

26

4. Look at the pie chart and answer the questions.

Favourite day of the week.

19 %

12 %

8 %

S50 %

11 %

113
2 T4 712 7

®

18 16 17 18 19 20 21

a. What is the favourite ice-cream in grade 62

b. What is the least favourite ice-cream in grade
62 | |
c. What is the difference between the

favourite and the least favourite ice-cream?e
d. What fraction of grade 6 like strawberry
ice-cream?@ Q vanilla ice-cream?

; lime ice-cream?@ ;
chocolate ice cream? Q

a. What is the favourite day of the week?
Why do you think so¢ | |
b. What is the least favourite day of the week?

c. Write the following in fractions: People that

like: Monday Q Thursday Q
Friday Q

d. Compare question 2 and 3's pie charts.

Which circle shows ...?

SO
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) L8

Simon

Making beds : hour
Washing dishes 1 hour

Lee

Washing dishes 2 hours
Drying dishes 15 hour
Making beds % hour
Clean my room 3 hours
Dusting 1 hours

Dusting 1 hour
"Washing dishes 1;hours

Drying dishes ; hour

Cleaning own bedroom 21 hours
Making beds ; hour

Ben

Dusting 2 hours
Drying dishes ; hour
Clean my room 1% hours

Suraya

Cleaning own bedroom 2 hours
Making beds ; hour

Dusting 1 hour

Washing dishes 4 hours

Drying dishes 1} hour

1. Use the information above to complete the pictograph.

Making beds 2 hours

Dusting 3 hours

Cleaning own bedroom 2% hours
Washing dishes ; hours

Drying dishes ;hour

Simon
Key: ]
ee
10”12]2
o,y 1 hour
‘ Suraya
;O . 23 1
N 5 hour Ben
Lisa

2. Use the pictograph above to label you pie chart. We did the first one for you.

Title:

86
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L 1 Y .
-~ - g
™ o

3. Look at the bar graph and answer the questions.

Simon Lee Suraya Lisa Ben Total

Making beds

Washing dishes

Drying dishes

Dusting

Cleaning own bedroom

Hours spend on tasks at home

Before answering
the questions below

compare the table
above and the bar
I graph on your left.

Making Washing  Drying  Dusting  Cleaning
beds dishes dishes own
bedroom

Mumbers of hours

(=R RN IEEE R e R R - Y]

Tasks at hame

a.Write your answers in hours and minutes. What time did they spend on:

i. Making beds? hours minutes
ii. Washing dishes?¢ hours minutes
jii. Drying dishese hours minutes
iv. Dusting? hours minutes
v. Cleaning own bedroom?2
hours minutes Find a bar
graphin a
b. On what task did they spend the most newspaper.

Write ten things
time?2 down about
the graph.

c. On what task did they spend the

least time?

16 17 18 19 20 21 22 28 24 28 26 2r 26 29



When we have a list of numbers as | kept a record of last week's
part of some data, we often find materials collected. | wonder what

it useful fo work out the average was the average amount of material
number. collected.

12+2+4+5+2 So we need to There are three different I

=25 divide 25 by 5 to types of average: the mean,

=25+5 gef the average, the median and the mode.

= 5kg — Eveé:ggig we have We are calculating the mean

: here.

Calculate the average (mean) of the following: I
e 25,15,20,9,11 and 10 To first put the
e 50, 1000, 250, 350, 100, 500, 200, 700, 600, and 300 numbers in order
e 1,5 27and 4,2 of size makes it
e 36, 40, 80 and 100 easier fo work out
* 21,70,35, 14, 63,77 and 28 S EMETEIge.

After calculating the averages, say which numbers are above and which
are below the mean.

Example: recycling material example above

5 kg was the average for the week.

* Monday was above the average for the week

* Tuesday, Wednesday and Friday were below the average for this week.

1. Use the tables to answer the questions.

ok Amount of glass collected

Week 1 Week 2 Week 3 Week 4 Week 5
5 kg 4 kg 5 kg 6 kg 5 kg

i. Whatis the mean score?

ii. Whatis the median score?

iii. Whatis the mode®?

88
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.

. Here are the heights of some of the recycling bins.

Week 1

Amount of plastic collected

Week 3

Week 4

Week 5

8 kg 7 kg 6 kg 4 kg 7 kg 7 kg 5 kg
i. Whatis the mean score?
i. Whatis the median score?¢
iii. Whatis the mode?2
C.
Amount of metal collected
Week 1 Week 2 Week 3 Week 4 Week 5
5 kg 6 kg 6 kg 5 kg 5 kg

What is the mean score?

What is the mode?

. Whatis the median score?

135cm, 145cm, 125cm, 135cm, 145cm, 145cm, 125cm, 120 cm, 120 cm,
130cmand 115 cm.

What is the mean score?

What is the median score?

. Here is the total amount of paper collected in seven weeks.

Amount of paper collected

Day 1

Day 2

Day 3

Day 4

Day 5

Day 6

Day 7

7 kg

6 kg

7 kg

6 kg

6 kg

7 kg

6 kg

What is the mean score?

ii. Whatis the median score?

4. Go back to Question 1 and work out how many kilograms of each material were
collected.

18 16 17 18 19 20 21
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g . Add4tothe number. [ + Multiply the number by 4.
e Add 4 more. . Iv\ul’r!ply the number by 4
* Add 4 more. again.
* Continue with this pattern. : Iv\ul’r!ply fhe number by 4
again.
e Continue with this po’r’rern.j

\_ AN

1. Look at the number sequence 125, 250, 375, 500.

a. What is the difference between the numbers.

b. Describe the pattern.

2. Look at the number sequence 8, 24, 72.

a. Whatis the difference between the numbers.

b. Describe the pattern.

3. Give the next three numbers of the sequence. Describe the pattern.

S

90
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L s

SRS, do do o

5 M6 6% do do do o

4. Complete the pattern.
a. 373, 374, 376,

. 650, 653, 659,

C. 298, 303, 313,

d. 642, 644, 648,

e. 589, 593, 601,

f. 461, 467, 479,

Collecting shells

James collects shells. Every day he picks up twice as many shells as the previous day. On the first day he
picks up 7 shells. On the second day he picks up 14. How many shells would he collect on the ninth day?

16 17 18 19 20 21 22 28 24 286 26 2r 26 20 IV



LElow.diagrams and tables

. N\ [ 2\
What will the next
number be?

* How did you work it

Q‘”‘C‘Q‘

out?
be? 14 21 28 35 42 49 56 63
\_ / \ /

1. Answer these questions.

a. input output
1 8 i) What would you write in the empty boxe
3 24
5 \ / 0 i) What do we call ite
74 > 56
9 / \ 72

b. input output  §) what would you write in the empty box?
1 9

19 i) What do we call itg

AN

29
6 4 He 34
8 / 44
11 59
c. input output i) What would you write in the empty box2

40
25 i) What do we call ite

\

92
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b. input

3. Determine the rule and then write a number sentence for each.

a. i

N~

output

nput output
9 32
6 23
7 \ 26
3 |4 {14
g \E
8 29

. input output
7 62
5 46
8 \ 70
4 > 38
37 \y=
6 54

A — [ i e & |
P
= o |
» o
) » ) »
Y o W | l E ]
W
— >,

2. Create your own flow diagram and describe it.

A N WO N O O

=32
=23
=26
=14
=17
=29

continued &
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Revise measuring instruments by saying what you will use these measurement
instruments for.

Measuring Tape Ruler Trundle Metre stick  Odometre
tape measure wheel

1. What would you use to measure the following with? Give 5 examples and in what
unit you will measure.

a. | will measure in and

. - - i
b i | 3 # -
: o o el T I #“
- —_— = e u]I—.:E’ st e V.
T TR PP YT L 2

b. | will measure in and

b. | will measure in and

© 19 2 8 4 8 B 7 8 © 10 99 12



e. | will measure in and

.

f. | will measure in and . i
ii.
iii.

3. Draw the following lines with your ruler.

a.9cm

b.6,3cm

c. 142 mm

Create aruler

Draw a 10 cm ruler with its divisions.
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‘Conver‘ring between lengths

Show 98 mm on the

ruler.

e Show where it says
cm.

e How many cmis it?

We can so]me’rimes record measurements in centimetres and fractions of centimetres, e.g. the
eraser is 25 cm long. This is easy to do because on a ruler, the fifth millimetre gradation line is
normally longer. Once you have learnt, from reading commercial mass and capacity packaging,
that 2E is the same as 2,5, you will also be able to use the decimal, 5 in your recording, i.e. 2,5 cm
long.

1. First do the practical activity and then write the following in cm and mm and then
cm only.

Show 65 mm on
the ruler.

Example: 65 mm =é cm and 5 mm or 6;_cm or6,5cm

a. 98 mm = b.57 mm =
c.74mm = d. 66 mm =
e.85 mm = f. 49 mm =

2. Write the following as mm.

1
Show 97 cmon
the ruler.

Example: 9é cmor?cmand 5 mm =95 mm

0.9;_cm= b. 5];cm=

c.7Xcm= d.4lcm=
2 2

e.8Lcm= f. 6lcm=
2 2

96
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3. Write the followinginm and cm.  Example: 786 cm =7 m and 86 cm

Show 786 cm on
a tape measure.

a. 963 cm b. 698 cm c.741 cm

d. 587 cm e.852cm f. 479 cm

4. Write the followingincm. Example: 9 m and 75 cm =975 cm

Show 9 mand 75 cm
on a tape measure.

a.9mand 73 cm b.7 mand 58 cm c.6mand 21 cm

d.4mand 8% cm e.8mand é62cm f.5mand 47 cm

continued &
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5. Write the followinginm and cm Example: 3 650 c¢cm =36 m and 50 cm or 36,6 m

Show 3 650 cm on a
long tape measure.

a. 6260 cm b.7 590 cm c.3920cm

d. 2 100 cm e. 8450 cm f. 4220 cm

6. Write the following in m.
Example: 6 m and 400 cm = 6 400 m

Show 6 m and 400 cm
on a tape measure.

a. 7 mand 300 cm

b. 6 m and 200 cm

c.8mand 500 cm

d. 9 mand 400 cm

e.3mand 200 cm

f.4mand 100 cm

98
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7. Write the following as m. Example: 51 km = 5500 m
2

Show 5-km on an
odometef (trip meter).

EREERE

a. 9L km b. 6~ km
2 2
c.7 km d. 41 km
2 2
e.81km f. 5 km
2 2

8. Write the foIIowing as km. Exomp|e: 6500m = 61 km or 6,5 km
2

Show 6 500 m on the

odometer.
a. 1400 m b. 3900 m
c.7 500 m d.2800m
e. 8 600 m f. 9700 m

Who travelled further?

Our friends travelled 3,5 km to the event. We travelled 3 250 m to the event. Who fravelled the fartheste
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Round off length

ol We tfravelled 995 km. We travelled 1 000 km.

- AN

1. Round off to the nearest cm. Draw the arrows on the number lines.

Example: a. 3 mm rounded off is 0 mm, 6 mm rounded offis 1 cm

a. 14 mm rounded off is 16 mm rounded off is
Z | 1 1 1 1 | 1 1 1 1 | N
N I I I I | I I I I [
1cm/10 mm 2cm/ 20 mm
b. 44 rounded off is 45 rounded off is
ya | | | | | | | | | | | N
Ml I I I I | I I I I I
4 cm/ 40 mm 5cm /50 mm
c. 189 rounded off is 182 rounded off is
ya | | | | | | | | | | | N\
N I I I I | I I I I [
18 cm/ 180 mm 19cm /190 m

What does each |
2. Round off to the nearest m. interval represenf?

Example: a. 30 cm rounded off is 0 m, 90 cm rounded offis T m

Om Tm
Ocm 10 20 30 40 50 60 70 80 90 100cm
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a. 645 cm rounded off is 655 cm rounded off is

i ] ] ] ] ] ] ] ]
N | | | | | | | |

Vv

6m /600 cm 7m/700cm
b. 845 cm rounded off is 874 cm rounded off is
ya | | | | | | | | | | | N\
N I I I I | I I I I [
8 m /800 cm 9m /9200 cm
c. 335 cm rounded off is 365 cm rounded off is
ya | | | | | | | | | | | \
Ml I I I I | I I I I [
3m /300 cm 4 m / 400 cm

3. Round off to the nearest m.

Example: a. 400 rounded off is 0, 800 rounded off is 1

< |<_ -1 - T = 1= | ] ] [ T >| N

N I I I I | I I I I [

0 mm 1 2 3 4 5 6 7 8 9 10 mm
a. 6 400 mm rounded off is 6 600 mm rounded off is
.8 100 mm rounded off is 8 600 mm rounded off is
c. 5400 mm rounded off is 6 900 mm rounded off is

Example:
4. Round off to the nearest km. Round off fo km. To round off 1 ksn and 750 m

using your knowledge of rounding
off to thousand. 2 km and 650 km = 3 km.

a.3km and 230 m p. 6 km and 520 m
c./7 kmand 150 m d.2kmand 610 m
e.2km and 470 m f. 4km and 460 m
g. 3 km and 380 m h.8 km and 740 m

i. 5kmand 820 m

Rounding off is easy

Why is it easier to work of with a rounded quantity? Give an example.
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4 Look at the fraction board and add...

o 1+ 14
i 3

We are going to add, l

subtract, multiply and r/

divide with length.
_J

2

. First work through these examples and then solve the problems

Example 1:
| bought 4 200 mm and then 3 300 mm of string. How much string did | buy?¢ Write
down your answer in mm and cm and then in m.

4 200 mm + 3 300 mm

4 000 mMm + 3 000 mm + 200 mm + 300 mm
7 000 mm + 500 mm

7 500 mm

m and cm: 7 m 500 mm
Meftres: 7‘E m

Example 2:
| bought 71 m of ribbon. | used 35 m. How much ribbon do | have lefte
Make a drawing.

SN eT TN TS T,
4 . v £ ¥ . % ., 4, | . |
-ttt 1t
0 Tm 2m 3m 4m 5m é6m 7m 8m I9m 10m

3]7 metres of ribbon are left.

Example 3:
We travelled 530 km 500 m on the first day. Our holiday destination is 1 000 km
from home. How far should we still travel2

1 000 km — (530 km 500m)
=470 km - 500 m
= 469 km 500 m or 469,5 km

© 9 2 8 4 85 G 7
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a. | bought 4 600 mm of string and then 2 800 mm more. How much string
did | buy? Write down your answer in mm and cm, and then in m.

b. | bought 9 m of ribbon. | used 37 m. How much ribbon do | have lefte Write your
answer in m.

c. My father’s desk is 3 300 mm long and mine measures 6 200 mm How much longer is
my desk than my father’'s desk? Write down your answer in m and cm, and then in m.

d. I bought 90 m of wool. | used 192 m. How much wool do | have lefte Write your
answer in m.

e. Sandra and Sipho travelled 1 520 km. Sandra drove 579 km. How far did Sipho
drive?

f. My car has to go for a service in 2 871 km. | drove 1 264 km during the month. How
many kilometres before | have to take my car for the service?

18 196 17 18 19 20 21 22 28 24 26 26 27 26 20 IV
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Mathematics Grade 6

Cut-out 6

Operation Snap
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increase | subtract | multiply mMinus sum

-+ I - | [+ IO -+ ] | [+ I = 1| [+ TR = ] |+ [T+ |

times add divided decrease | product
by

-+ I < ]| [+ T = | [+ I = | [+ T = | |+ I~ |

share take and groups of | plus

equally away

-+ I - ) [+ I -+ | [+ I - | [+ T - ) [+ T+ |

total divide lots of difference | divisible

between | py
-+ I+ || [+ IO+ ]| [+ I+ | -+ T x] - |
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